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ENGLISH VERSION

Instructions : (1) Q. No. 1 to 4 are compulsory for Regular and
External students.

(2) Q. No. 5 is only for External student.
(3) Marks are indicated on right side.

1 (a) Define Statistical probability. State and prove the 10
addition rule of probability.
(b) Explaining elementary concept of the set write types of sets. 10
OR
1 (a) If4={1,2,3,4}, B=1{2,3,5,6}, C={3,4,5, 8} then 10
prove that

(i) AUu(BNC)=(AUB)n(4uUC)

(i) An(BuC)=(AnB)u(4nC)
(b) If P(A)z%,P(E):% and P(AmB)z% then find 10

P(4UB).P(ANB) and P(4/B).
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2 (a) Explain the method of Moving Average and method of 10
Least Square.
(b) Explain the analysis of Time series. 10
OR
2 (a) For the following data fit y=a+ bx + cx? and estimate 10
the price of year 2018 :
Year | 2009 [ 2010 | 2011 | 2012 | 2013 | 2014 | 2015
Price | 104 | 110 | 118 | 128 | 140 | 154 | 170
(b) Fit second degree parabola for given data and estimate 10
the production of year 1998 :
Year 1989 {1990 [ 1991 | 1992 | 1993 | 1994 [ 1995 | 1996 | 1997
Production | 2 6 7 8 11 11 10 9
3 (a) Find mean and variance from the discrete probability 7
distribution.
(b) The probability distribution of a r.v. x is given below 8
obtain the value of (i) P (ii) E(x) (iii) WM(x).
X 0|12 ]|3]|4
P(x) % P m P %
OR
3 (a) Define variance and give its properties. 7
(b) The probability distribution of a r.v. x is given below. 8
Obtain the value of (i) P (ii) S.D.
X -3 [-2|-1 1 2 |3
P(x)[0.05| P [03[0[03[0.15|P
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4 (a) Write note on Binomial distribution.

(b) 5 dies were tossed together 96 times. The appearance of

4, 5, 6 number are consider as success. Find expected

frequency of different successive event.

4 (a) State properties and uses of Poisson distribution.

(b) In a town 10 accidents took place in a spam of 50 days.

OR

Assuming that the number of accident per day follows the

Poisson distribution. Find the probability that there will be

three or more accident in a day. (e_'2 = 0.8187)

(ONLY FOR EXTERNAL STUDENTS)

5 (a) Find Seasonal variation.

Year | Q; [Q, | Q5 [Q,
1977 | 75 [ 60 | 54 | 59
1978 | 86 | 65 | 63 | 80
1979 1 90 | 72 | 66 | 85
1980 | 100 | 78 [ 72 | 93

15

(b) If P(4)=2P(B)=P(4/B)=0.4 then find P(A4UB), 10

P(A'"UB'") and P(B'/ 4).

(c) For a Poisson variant P(1) = P(2) then find the value of 5

P(0).
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5 (a IfA4={1,2,3,4}, B=1{2,4,6,8}, C={3,4,5,6} then
prove that

(i) An(BNC)

(AnB)NC

(i) AU(BNC)=(AuB)n(4uC)

(i) An(BuC)=(4nB)u(4nC)

(b) Explain the methods for finding seasonal variation.

(c) 8 coins are tossed at a time. Explain that probability of

getting minimum 6 heads are 3—7
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